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1. (14 93D — AR A R G0 AL NN h(n) = a”"u(-n), 0<a <1, KitH
%R G AL B BRI S o

2. (1240) BRFI x(n) BB B4 X (&), 3k x(n) 2R Re X (™) | Bt i
¥ 51

3. (1249) BEIFHx(n)=[2,1,4,2,3],0<n <4, I X (™) = DTFT [x(n)] F
X (k)=DFT[x(n)], FUiHFEE KR,

4. (1450 WBAF— At a ) FET 592, FH—A N SUF SR DFT 5155
—/> 2N 5751 x(n) ) DFT.

5. (124)) —AERMEMAL FIR JER #2509 TN
y(n) = x(n) +3x(n —1) + 2x(n — 2) + ax(n —3) + bx(n —4) = 3x(n — 5) — x(n — 6)
(1) i R aMb1E:
(2) 1 H FIR JER A8 2P E AR B S5 4

6. (22 43) FIMEMAR LT — AN EFARIB ISR A, #i5E H(2) MRIEA. ZKRik
F AR g A%, 3dB #ULMA £, =100Hz , PHATEOESZ £, =150Hz , P i
INBEJR A, =20dB . CUAIHHEESIE F, = 400Hz , [URRR FE 8 I 28 40 £F 22 T R X
TR 1.

7. (1473 T8 & R BOE BT AR A FIR By g B et B %
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N=1 (s+1)
N=2 (s +1.41425+1)
N=3 (s+1)(s* +s5+1)
N=4 (s +0.7654s +1)(s* +1.8477s +1)
N=5 (s+1)(s* +0.6180s +1)(s* +1.6180s +1)
N=6 (s> +0.5176s +1)(s* +1.4142s + 1)(s* +1.9318s +1)
N=7 (s +1)(s* +0.4450s +1)(s* +1.2470s +1)(s* +1.8019s +1)




